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Adter deciding on the appropriateness of a linear model relating coffee sales and maximum temperature, the
managers calculate the equation of the least-squares regression line to be % = 2492.09 — 1048 x . This is the
line shown in Figure 1
Answer the following:
1.Fillinthe blank: For these data,coffze sales values that are greater than the
mean ofthe coffee sales values tend to be paired with temperature values that |[Chooss one
are__ the mean ofhe temperaure values.
2. According o the regression equation, for an increase of one degree in
femperature, there s a correspanding decrease of how many dallars in coffee |
sales?
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After deciding on the appropriateness of a linear model relating coffee sales and maximum temperature, the

managers calculate the equation of the least-squares regression line to be % = 2492.09 — 10.48 x . This is the

line shown in Figure 1
Answer the following

1.Fillin the blank: For thess data, coffee sales values that are greater than the
mean of the coffee sales valuss tend to be paired with tsmperature values that | [Choase one

are the mean of the temperature values.

2. Acooraing f he regression equation oran increase of one dearee in
femperatre, here is 2 correspanding dscrease of haw many dallars ncofiee ([

sales?

3. From the regression equation, what s the predicted cofiee sales value (in
dollars) when the temperature is 47.6 degrees Fahrenheit? (Round your i
answer o atleast one decimal place )

4. From the regression equation, what s the predicted coffee sales value (in
dollars) when the temperature is 56.6 degrees Fahrenheit? (Round your i
answer o atleast one decimal place )
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